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Either she or her father can prevent - 2D P9ISY 7IAN A X7 92

Overview

The X713 cites the ruling of 27 regarding a AR nYTH Xow "WIPNIY 7Ivp, that either
the 71vp or her father can prevent the w1 7P from taking effect. There is a dispute
between >"¥1 and N1B0IN how to explain this ruling.

mooIn anticipates a difficulty:
- 'ann nyam XY 19PUN (3,1 97 DYDY 29 9INRT 23 HY IN)

And even though 21 ruled previously regarding a 72X nv7> Xow Iw7pNIw 70 that

she requires (13X°7) vi because we are concerned perhaps the father consented, so
how can we say here that (she and) her father can prevent the w17’ from being effective —

mooIn responds:
- HnyTa N9 ANAT X9%D YaN PRYY YNRYY NN NN

This ruling of 287 7%¥7n1 XY is in an indeterminate situation where the father
heard of the 717> and remained silent; however in a case where he protested

when he heard about the 7u17°p, he revealed his view that he opposes the WP
(initially) and he prevents it from becoming effective

n1o0IN now discusses the 212°v of the 7ivp:
- 2999 79199 ANA NXINI 1IN NIN 2999 NN 1999 *AND NYINI NY DN NIV N9

And it is unnecessary to say that she can be 25v» if the father was not 72902,
but even if the father was 7139n1, she can still be 202,

mooIn asks:
= N9 bya ﬂ\’)‘f‘pb 1753 RN ANN NNINY NN 29¥NY Y NN YINN ON)

And if you will say; what will it help that she is 25¥» after the father was

7x9n1, since the father has the right to be wp» her against her will, and he
approves of the 217°p, so her protest in this case is seemingly meaningless?!

! Presumably mpown assumed in this question that the father can be 20v» later, even if initially when he became
aware of these 1"v17p he did not react. The question is that since initially he did not protest, and 27 previously ruled
that she requires a v because 2X7 7¥7N1 RMPW, how is it possible that afterwards he can nullify the 71 7°p. See
‘Thinking it over’ # 1.

% Moo maintains (in this answer) that the father can be 25¥» only if he protested initially, but not if he was silent
initially (for then he might have been 7¥7n1 and at that point the 1217 become effective and she requires a v3).

3 ARy %01 KO here, means the father took no action; either he was silent or did not yet know about it; in these two
situations she can be 20¥n, as >"w1 maintains (see footnote # 7). [It would be difficult to interpret here 287 73701 K7
that he protested, for then, her 213°¥ is immaterial.]
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N1B0IN answers:
- ‘W pn NYINNA KPIT 1N I W

And one can say; this the that father can be w7pn her 2"v2, is only by the initial
PRNT? -

= AND NNINI 75 NN NPAN NYTH NOY NYTPNT XN DAN
However in a case where she was mag nyT> 852 mw7pni, and the father was

axen: later -
- 617 NYD 2INT HAOYN INAT 1173 1IN 5 NN Sm:m QYON NYNPNT 91399 A8 NN

And you wish to say that she is nwTp», because it is a 12t for him; however,

we say that since the daughter is n2oy» it is a 27 for him -
= 1A5Y17 Y1 190 AN N¥INN NN N

And he would not have consented if he would have known that she is 725™%.

mooIN cites "wND:
ANN NYINI XY PYITHN NP NYWAY NN WY 31 NOWP KY DI0NPN W1DY 111910)

However according to >''w=p there is no difficulty at all, for >"v" explained X7’
'20Y7 11712°, to mean that since at the time of receiving the 3217p, the father did

not consent as of yet, therefore -
$AND N9 IN 23NN XD HINN ANN NYINY ONP MNY NHNA ON

If she comes to retract the 7u17°p before the father consents, she may retract,

and the father’s consent afterwards would not be effective and there would be no
PUITP.

Summary
According to Nv0IN she can be 20¥» even after a8 %701, according to "7 she

can be 25yn only before 2R 7xX7N1.

Thinking it over

* The father can be w7pn her 3"v3, when he is agreeing to the 7"w17°p at the moment of PYITp.
> M1 means it is advantageous or beneficial; while 2 means it is detrimental or damaging.

® At the moment when these WP took place, it cannot be effective since the father did not consent to these 1w17p.
When later we find out that the father consents to the w17, we assume that at the point of Pw1TP the father
implicitly consents, for it is a m37 for him that the daughter should marry this person, and even though he is not
aware of the PY17°p, we say 1192 ROW 07X? 121, However if (even after the father consented) he realizes that his
daughter does not want these 1"W17°p, then retroactively we must say that it is no m>7 for the father (to marry his
daughter to someone she does not want); but rather it is a 211 for the father. Therefore the 7w17°p never took place,
because at the moment of 7217°p there is no consent, either explicit or implicit.

79130 1" 73 See footnote # 3.

2
TosfosInEnglish.com



12 7"7'010 R, YR L7"02

1. What is maoin first difficulty?® Perhaps the ruling of a7 %01 Xaw is in a case
of 197w, and the ruling of 25y P%12° 121 X1 P2 is by 17w 89?7

2. What ‘forced’ mpoin to learn that she can be 20¥n, even if 287 7x¥7n1; why did
not NMvo0N learn like >"w1?!

8 See footnote # 1.
? See X"wAmn.
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